SKEL RAD C PRACTICE FOR FINAL

1. A slipped capital femoral epiphysis is 1 of the most common places for this type of fracture.

a. Salter-Harris I

d. Salter-Harris IV

b. Salter-Harris II

e. Salter Harris V

c. Salter-Harris III

2. MATCH THE FOLLOWING FRACTURES.

a. Salter-Harris I

A. Can cause premature closure of physis

b. Salter-Harris II

B. Through physis, metaphysis & epiphysis

c. Salter-Harris III

C. Affects growth plate

d. Salter-Harris IV

D. Thurston-Holland fragment

e. Salter-Harris V

E. Through epiphysis & physis

3. What is the most commonly fractured layer of the physis (p.800 Y & R)?

a. Resting layer

c. Columnar layer

b. Proliferating layer

d. Zone of Provisional Calcification

4. A rich blood supply passes through the ____ layer & goes to the ____ layer.

a. resting;proliferating

b. proliferating;columnar

c. columnar;ZPC

5. IVOC, Spondylosis Deformans or OA?

a. Annulus fibrosis is the major site of abnormality SD

b. Presents with cartilaginous nodes IVOC

c. AKA Central nuclear disc degeneration IVOC

d. Presents with spondylophytes SD

e. Moderate to severe decrease in disc height is present IVOC

f. Can't be seen on plain film until 2nd step IVOC
6. Which attaches a few mm. away from the disc, ALL or PLL?

7. Which uses longer times, a T1 or T2 weighted MRI?

8. Vacuum phenomenon is an abnormal finding in which of the following joints?

a. SI 
b. shoulder
c. knee
d. all of the above

e. none of the above

9. IVOC occurs in patterns in the c-spine & the lumbars. Select the 2 answers reflecting the most common(least common segments to experience IVOC in these 2 regions.

a. C6-C5-C7-C4-C3-C2

d. L5-L4-L3-L2-L1
b. C5-C6-C4-C3-C7-C2

e. L5-L4-L3-L1-L2

c. C6-C5-C4-C3-C7-C2

f. L1-L2-L3-L4-L5

10. When viewing a film where all contour lines break in the same direction:

a. There is intersegmental integrity but not intrasegmental integrity.

b. There is intrasegmental integrity but not intersegmental integrity.

c. There is a complete lack of integrity.

11. Why are osteophytes bigger than they look on a plain film? Cartilaginous caps
12. T/F Pure spondylosis can occur in any area of the spine. 

13. You are reviewing a film and notice that L4 is missing its left pedicle and spinous process. Why would metastasis be favored over multiple myeloma in the differential? MM starts at Body
14. Which of the following lists includes the 3 most common metastases?

a. breast, prostate, kidney

c. breast, lung, kidney

b. breast, prostate, lung

d. breast, prostate, neuroblastoma

15. Which of the following is most commonly LYTIC, breast or prostate cancer?
16. Uncovertebral joints form which border of the IVF?

a. anterior/anterolateral

c. posterior/posterolateral

b. anterior/anteromedial

d. posterior/posteromedial

17. What is the orientation of the cervical IVF?

a. anterolateral
b. anteromedial
c. stupid

18.  IVOC is much more common from FACET or LUSCHKA arthrosis?

19. Which of the following are the most common levels for facet arthrosis in the c-spine?

a. C5/C6, C4/C5, C7/T1

c. C2/C3, C3/C4, C5/C6

b. C4/C5, C5/C6, C3/C4

d. C2/C3, C3/C4, C7/T1
20. Which of the following may occur in facet arthrosis (mark all that apply)?

a. sclerosis

b. osteophytic formation

c. synoival cysts

d. normal disc space alignment

21. Select the 1 of the following for each description: MODIC 1, MODIC 2, MODIC 3.

a. Decreased signal intensity on T1 & T2-weighted image MODIC 3
b. Decreased signal intensity on T1-weighted image MODIC 1
c. Increased signal intensity on T1-weighted image MODIC 2                                                               

d. Normal or slightly increased signal on T2-weighted image MODIC 2
e. Decreased fat signal/increased water signal MODIC 1
f. Disruption & fissuring of the endplate by vascularized tissues that invade the marrow MODIC 1

22. Name the 3 places that facet osteophytes in the spine can hit nerves.  Central canal IVF Lateral recess
23. T/F Costovertebral arthrosis is more common than costotransverse arthrosis.

24. Costotransverse arthrosis almost always occurs at what level?

a. T8/T9     b. T9/T10     c. T10-T11    d. T11-T12     e. occurs equally at all of these

25. When lower thoracic facet arthrosis refers pain to the lumbar spine, it is called:

a. Maigne's Syndrome

c. Robert's Syndrome

b. Malgagne's Syndrome

d. Hadley's Syndrome

26. What % of RA can be unilateral?

a. 10%
b. 15%
c. 20%
d. 25%
e. RA always occurs bilaterally

27. In the chart shown in class, what are the 4 complications of spinal degenerative disease? Misalignment, stenosis, discal displacement, senile kyphosis
28. The Wiltse classification is used to classify:

a. anterolisthesis   b. retrolisthesis   c. pars fractures   d. spondylophytes  e. none of these

29. T/F Isthmic spondylolisthesis is common in the c-spine.

30. T/F The 1st MCC is a primary location for OA.

31. By name, what are the 5 types in the Wiltse classification?

TYPE I: Dysplastic

TYPE II: Isthmic

TYPE III:Degenerative

TYPE IV:Traumatic

TYPE V:Pathological

32. Indicate if each of the following items are related to TYPE I, II, III, IV or V from Wiltse classification.

a. Elongated pars II
b. The rarest of all 5 V
c. Segments locked by the apophyseal joint I
d. Acute pars fracture II
e. Hangman's fracture IV
f. Left facet dislocation IV
g. Occurs predominantly in gymnasts II
h. Chronic stress fracture II
i. In the c-spine this is almost always the classification III
j.. Involves intrinsic bone destruction or bone softening* V
*What 3 conditions did Dr. Fox mention that may lead to this?

Pagets, osteomalacia, fibrous dysplasia
33. Which 2 types (I-V) make up approximately 95% of spondylolistheses?

II, III
34. How many motion segments does it take for spinal stenosis to occur with an isthmic spondylolisthesis?

a. 1
b. 2
c. 3
d. 0

35. What is the most reliable method (using films) for evaluating the stability of a spondylolisthesis?

a. Erect lateral flexion/extension

b. Erect lateral with traction & compression
c. Prone with traction

d. Recumbent lateral with flexion/extension

36. An Inverted Napolean Hat Sign can also be called _____ & is an axial view of the vertebra.

a. Gordet's Hat


c. George's Cap

b. Gendarmes's Cap

d. Admiral's Cap

37. What are the "F's" of spondylolisthesis?

a. LFour/Female/over Forty
c. LFour/Female/over Fifty

b. LFive/Female/over Fifty
d. LFive/Female/over Forty

38. What causes segments to go retro?

a. Your mom (of course)

c. Disc degeneration
b. Pars fracture


d. None of the above

39. Which of the following is the MOST reliable contour line? The LEAST?

a. Posterior spinous line The LEAST

c. Posterior body/George's line

b. Spinolaminal line MOST

d. Anterior body line

40. Posterior discal displacement results in:

a. Schmorl's node

b. Spondylosis Deformans

c. Intraspinal herniation
41. At C3-C7, this measurement is considered plain film spinal stenosis.

a. 10 or < mm
b. 11 or < mm
c. 12 or < mm
d. 13 or < mm

42. In the lumbar spine, interpedicular distance needs to be greater than:

a. 10 mm
b. 15 mm
c. 18 mm
d. 20 mm
e. 23 mm

43. What is the most significant spinal ligament in regards to degenerative discs?

a. ALL
b. PLL
c. Ligamentum Flavum
d. Supraspinous
e. Interspinous

44. What is the hallmark feature of Ochronosis in the spine?

Calcification of IVD
45. What arterial calcification may occur on the plain film of a patient with Werner's Syndrome?

a. Aorta

b. Coronary
c. Pulmonary
d. Renal

e. Hepatic

46. Name the 3 clinical subentities of CPPD. Underline the degenerative 1 & circle the inflammatory 1.

Pyrophosphate Arthropathy, Chondrocalcinosis, pseudogout

47. Name the 3 characteristics associated with Klippel-Feil Deformity. Low hairline. Short neck, webbed neck
48.  Scheuermann's Disease can (MARK ALL THAT APPLY):

a. Increase kyphosis
c. Present with pain in the spine
b. Increase lordosis
d. Present with multiple Schmorl's nodes
49. Cupids Bow Deformity illustrates:

a. Schmorl's nodes

e. b & c

b. Giant Schmorl's nodes

f. b & d

c. Nuclear Impressions

g. c & d
d. Notochord Invaginations

50. T/F   Putti's Triad includes:

(Absent or small proximal femoral capital epiphysis

(Lateral displacement of the femur

(Shallow acetabulum w/ an increased inclination of the acetabular roof, usually greater than 30 degrees. 

51. A sesamoid bone located in the lateral head of the gastrocnemius is called:

a. Os Fabella

b. Os Trigonum

c. Os Synovium

52. A slipped capital femoral epiphysis is indicated by a:

a. + Shenton's Line
c. + Klein's Line

b. + Iliofemoral Line
d. + Kohler's Line

